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1 Introduction
A new study item on Integrated Access and Backhaul for NR was approved in RAN#75 [1]. And in pervious RAN2 meetings, some agreements had been made for IAB SI, however, some issues need to be further discussed such as UE performing cell selection/reselection for IAB node.
In NR, UE select a suitable cell based on RRC_IDLE state measurements and cell selection criteria, however, considering the multi-hops IAB node will bring out new matters such as congestion, delay and backhaul link quality.
Therefore, in this contribution, we discuss UE performing cell selection/reselection for IAB node and provide some analysis and proposals. 
2 Discussion
In LTE, UE selects a suitable cell based on RRC_IDLE state measurements and cell selection criteria. For LTE Rel-10 relay, only the single hop is considered and there is no difference between eNB and relay node for UE when UE performs cell selection/reselection. Therefore, when UE performs cell selection/reselection, UE uses the same strategy for eNB and relay node. In NR, UE selects a suitable cell also based on RRC_IDLE state measurements and cell selection criteria. However, considering IAB node will support multiple backhaul hops, it will bring out new matters such as congestion, delay and backhaul link quality. Thus, the cell selection/reselection criteria for gNB is not effective when UE selects/reselects the IAB cells. 
For example, the different IAB nodes have different backhaul hop counts to reach the IAB donor, it would require different end-to-end latency. As shown in Figure 1, IAB3 needs two hops to reach the IAB donor and IAB1 and IAB2 need only one hop to reach the IAB donor.
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Figure 1. UE chooses a suitable IAB cell to setup connection
For UE1, it’s in the coverage of both IAB2 and IAB3 and so the UE1 can choose the IAB2 or IAB3 to setup the connection. If UE1 connects to the IAB3, the data packet transmission delay from UE1 served by IAB3 to IAB donor includes three hops: Uu delay between UE1 and IAB 3, delay between IAB3 and IAB1 and delay between IAB1 and IAB donor. If UE1 connects to the IAB2, there are only two hops transmission delay. Therefore, according to requirements of traffic of UE, UE can choose the best IAB cell to setup connection. For example, if the traffic of the UE1 is very sensitive to the packet delay, it can select the IAB2 to setup connection and otherwise UE1 can connect to the IAB3. Therefore, if UE can acquire the hop counts of IAB node (latency information) from the IAB cells, the UE can choose the suitable cell to connect based on its own traffic requirements. Moreover, for IAB1, the IAB3 is the son node of IAB1, so the traffic of IAB1 is heavier than IAB2 normally. In this case, if UE2 has the load information of the IAB cells, the UE2 will choose IAB2 to connect.
Therefore, based on the above discussion, considering the multiple hops IAB node, if the IAB node can provide some information such as backhaul hops count and load information for UE performing cell selection/reselection, the UE will choose the suitable IAB cell to satisfy its own traffic requirements. 
According to the above analysis, we have the following proposal:
Proposal 1: The IAB node should provide assistance information such as backhaul hops count and load information for UE performing cell selection/reselection.
3 Conclusion

In this contribution, we discuss the how UE to select/reselect an IAB cell and have the following proposals:
Proposal 1: The IAB node should provide assistance information such as backhaul hops count and load information for UE performing cell selection/reselection.
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